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UNIVERSITY OF NORTH BENGAL 

B.A. General Part-III Examination, 2022 

ECONOMICS 
PAPER-VII 

DEVELOPMENT ECONOMICS AND ELEMENTARY STATISTICS 

Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. 

 DEVELOPMENT ECONOMICS

 GROUP-A / িবভাগ-ক  / lewg-d 
1. Answer any five questions: 2×5 = 10
 �য-�কান পাঁচিট  pেűর উtর দাওঃ 
 dquS ik¡poVk iz”ug:dks mÙkj fnuqgksl~ &

(a) What do you understand by capital output ratio? 
 Capital output ratio বলেত কী �বাঝ ? 
 iw¡th-mRiknu vuqikr HkUukys ds cqf>UN \ 

(b) What is meant by foreign direct capital? 
 �বেদিশক pতয্k মূলধন (foreign direct capital)কী ? 
 fons”kh izR;{k iw¡th HkUukys ds cqf>UN \ 

(c) What do you mean by ‘backward linkage’? 
 ‘Backward linkage’কােক বেল ? 
 v/kksxkeh lgyXurk HkUukys ds cqf>UN \ 

(d) What is capital-intensive technique of Production? 
 মূলধন-িনিবড় উnয়ন �কৗশল িক ? 
 mRiknudks iw¡th iz/kku izfo/kh Hkusdks ds gks \ 

(e) Define economic planning. 
 অথর্ৈনিতক পিরকlনা বলেত কী �বাঝ ? 
 vkfFkZd ;kstukdks ifjHkk’kk fnuqgksl~A 

(f) What do you mean by Unbalanced growth? 
 অসম উnয়ন কােক বেল ? 
 lUrqfyr mit HkUukys ds cqf>UN \ 

(g) Explain SDR. 
 SDR কােক বেল ? 
 SDR-cq>kmuqgksl~A  
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(h) Mention two main problems of capital formation in under Developed Countries. 
একিট অনুnত �দেশ মূলধন গঠেনর dিট সমসয্া উেlখ কর। 

 vYi fodflr ns”kg:ek iw¡th fuekZ.kdk nqbZoVk eq[; leL;kg: mYys[k xuZqgksl~A 
  

 GROUP-B / িবভাগ-খ / lewg-[k 
 Answer any two questions  

েয-েকান dিট  pেűর উtর দাও 
dquS nqbZoVk iz”ug:dks mÙkj fnuqgksl~ 

10×2 = 20

2. Discuss the role of Capital formation in economic development. 10
 অথর্ৈনিতক উnয়েন মূলধন গঠেনর ɛিমকা বয্াখয্া কর। 
 vkfFkZd fodklek iw¡th fuekZ.kdks Hkwfedk NyQy xuZqgksl~A 
  

3.  (a) Distinguish between Economic Growth and Economic Development. 2+8 = 10
 অথর্ৈনিতক উnয়ন ও অথর্ৈনিতক িবকােশর মেধয্ পাথর্কয্ কর। 
 vkfFkZd of̀) vfu vkfFkZd fodklek> fHkUurk xuZqgksl~A 

(b) Can per capita income be used as an index of economic development? 
 মাথািপছু আয়েক িক অথর্ৈনিতক উnয়েনর সূচক িহসােব গণয্ করা যায় ? 
 ds izfr O;fä vk;ykbZ vkfFkZd fodkldks lwpddks :iek iz;ksx xuZ lfdUN \ 

  
4. Explain the theory of Balanced growth in the Economic Development of a 

country. 
10

 অথর্ৈনিতক উnয়েনর �kেt সুষম উnয়েনর তttিট আেলাচনা কর। 
 dquS ns”kdks vkfFkZd fodklek lUrqfyr mitdks fl)kUr O;k[;k xuZqgksl~A 

  
5. Discuss the complementary relation between Agriculture and Industry. 10

 ‘kিষ ও িশl এেক অপেরর পিরপূরক’— আেলাচনা কর। 
 Ñf’k vfu m|ksxek>dks laiwjddks lEcU/k NyQy xuZqgksl~A 

  

 GROUP-C / িবভাগ-গ  / lewg-x 
 Answer any one question 

েয-েকান একিট  pেűর উtর দাও 
dquS ,d iz”udks mÙkj fnuqgksl~ 

20×1 = 20

6. Explain the concept of HDI, GDI, GEM and HPI. 5×4 = 20
 HDI, GDI, GEM ও HPI–এর ধারণাgিল বয্াখয্া কর। 
 HDI, GDI, GEM vfu HPI dks vo/kkj.kkg: cq>kmuqgksl~A

  
7.   Explain the two way relation between population and development. 20

 জনসংখয্া ও অথর্ৈনিতক উnয়েনর মেধয্ িdমুখী সmকর্ বয্াখয্া কর। 
 tula[;k vfu fodkl chpdks nqbZrQhZ lEcU/k cq>kmuqgksl~A 
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8. Describe the role of IMF and the World Bank in Economic Development of 

LDCs. 
10+10 =20

 
 

অথর্ৈনিতক উnয়েন IMF (আnজর্ািতক মুdাভাčার) ও িবƬ বয্ােìর ɛিমকা আেলাচনা কর। 

 vYi fodflr ns”kg: (LDCs) dks vkfFkZd fodklek IMF vfu fo”o C;k¡ddks Hkwfedk 
ppkZ xuZqgksl~A 

  

 ELEMENTARY STATISTICS

 GROUP-A / িবভাগ-ক / lewg-d 
9. Answer any five questions: 2×5 = 10

 �য-�কান পাঁচিট  pেűর উtর দাওঃ 
 dquS ik¡poVk iz”ug:dks mÙkj fnuqgksl~ & 

(a) What is relative frequency? 
 আেপিkক পিরসংখয্া বলেত িক �বাঝ ? 
 lkis{k vkof̀r Hkusdks ds gks \ 

(b) Find the range of marks obtained by five students: 
pসার (Range) িনণর্য় করঃ 
ik¡ptuk fo|kFkhZg: }kjk izkIr vaddks nk;jk [kksTuqgksl~ 
  59, 52, 68, 79, 75 

(c) Distinguish between variable and attribute. 
 ‘Variable’ ও ‘Attribute’-এর মেধয্ পাথর্কয্ কর। 
 pj vfu xq.kek> fHkUurk xuZqgksl~A 

(d) What is Sample? 
 নমুনা কােক বেল ? 
 izfrn”kZ Hkusdks ds gks \ 

(e) Define Histogram. 
 ‘Histogram’ কােক বেল ? 
 vk;rfp=dks ifjHkk’kk fnuqgksl~A 

(f) What is class limit? 
 ‘Class limit’ কােক বেল ? 
 Js.kh-lhek Hkusdks ds gks \ 

(g) What is the relation among AM, GM and HM? 
 AM, GM ও HM –এর মেধয্ সmকর্িট উেlখ কর। 
 AM, GM vfu HM ek> ds lEcU/k N \ 

(h) What is the relation between mean, median and mode?
 গড়(Mean), মধয্মা (Median) ও Mode–এর মেধয্ সmকর্িট কী ? 
 ek/;] e/;LFk vfu cgqyd ek> ds lEcU/k N \ 
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 GROUP-B / িবভাগ-খ / lewg-[k 
 Answer any two questions  

েয-েকান dিট  pেűর উtর দাও 
dquS nqbZoVk iz”ug:dks mÙkj fnuqgksl~ 

10×2 = 20

10. What is sample survey? Discuss the advantages and disadvantages of sample 
survey. 

2+8 = 10

 নমুনা সংgহ পdিতিট িক ? নমুনা সংgহ পdিতর সুিবধা ও অসুিবধাgিল আেলাচনা কর। 
 izfrn”kZ losZ{k.k Hkusdks ds gks \ izfrn”kZ losZ{k.kdks lqfo/kk vfu vlqfo/kkg: ppkZ 
xuZqqgksl~A 

  
11. Find the frequency distribution of the following data by taking class interval of 5: 10

 িনmিলিখত রািশতথয্ �থেক পিরসংখয্া িবভাজন (frequency distribution) �তরী কর। এেkেt 
�Ëণীিবনয্াস (Class Interval) 5 ধের নাও। 

 Js.kh vUrjky 5 fy,j fuEufyf[kr rF;kadckV vkof̀r forj.k [kksTuqgksl~ & 
 11 21 25 49 42 16 26 15 23 33

09 27 18 26 42 03 32 17 11 35
02 22 16 28 02 42 37 32 16 37
42 37 45 31 09 35 21 29 17 12
36 32 36 39 11 29 39 24 29 40

 

  
12. Define: 

(i) Standard Deviation  
(ii) Median 
(iii) Mean Deviation 
(iv) Population 
(v) Sample. 

2×5 = 10

 (i) সমক িবcয্িত (Standard Deviation)
(ii) মধয্মা (Median) 
(iii) গড় cয্িত (Mean Deviation) 
(iv) জনসংখয্া (Population) 
(v) নমুনা। (Sample) 

 ifjHkk’kk ys[uqgksl~ & 

(v) ekud fopyu]  (vk) e/;LFk]  (b) ek/; fopyu]  (bZ) tula[;k]  (m) izfrn”kZA 
  

13. Find the SD from the following Data. 10
 িনmিলিখত রািশতথয্ �থেক SD িনণর্য় কর। 
 Height (in cms.) 120-124 125-129 130-134 135-139 140-144 145-149 

No. of Student 6 13 14 7 6 4 
 

 fuEufyf[kr rF;kadckV ekud fopyu (S.D.) [kksTuqgksl~ & 
 mpkb (ls- eh-) 120-124 125-129 130-134 135-139 140-144 145-149 

fo|kFkhZ la[;k 6 13 14 7 6 4 
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 GROUP-C / িবভাগ-গ / lewg-x 
 Answer any one question 

েয-েকান একিট  pেűর উtর দাও 
dquS ,d iz”udks mÙkj fnuqgksl~ 

20×1 = 20

14.(a) What is primary data? 4+16 = 20
 pাথিমক তথয্ কী ? 
 izkFkfed rF;kad Hkusdks ds gks \  

(b) Describe the various methods of collecting Primary data. 
 pাথিমক তথয্ সংgেহর  িবিভn পdিত আেলাচনা কর। 
 izkFkfed rF;kad ladyudk fofHkUu mik;g: NyQy xuqZgksl~A

  
15. Compute Mean and Median from the following distribution of Marks obtained by 

90 students. 
10+10 =20

 িনmিলিখত পিরসংখয্া িবভাজেনর গািণিতক গড় (Mean) ও মধয্মা (Median) িনণর্য় কর।  

 Marks 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 
No. of Student 5 12 15 20 18 10 6 4 

 

 90 fo|kFkhZg: }kjk izkIr fuEufyf[kr vad forj.kckV ek/; vfu e/;LFk fu/kkZj.k 
xuZqgksl~A 

 vad 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 
fo|kFkhZ la[;k 5 12 15 20 18 10 6 4 

 

  
16.(a) What is Absolute Mean Deviation? What are its main properties? 8+12 = 20

 গড় পাথর্কয্ (Mean Deviation) কােক বেল ? এর �বিশŶয্gিল কী কী ? 
 fujis{k ek/; fopyu Hkusdks ds gks \ ;ldk eq[; xq.kg: ds ds gqu~ \

(b) Calculate mean deviation of the following variables about the Mean. 
 িনmিলিখত রািশতেথয্র গড় �থেক গড় Mean পাথর্কয্ (MD) িনণর্য় কর। 
 ek/;dks lEcU/kek fuEu pjg:dks ek/; fopyu x.kuk xuZqgksl~ & 
 8, 15, 53, 49, 19, 62, 7, 15, 95, 77. 

 
——×—— 

 


